MATH 2250 WORKSHEET 5 SEPT 26 2022, INSTRUCTOR: JIUYA WANG

Problem 1: Chain Rule Determine the derivative and second order derivatives of the
following functions:

1. Va2 +3x -3

2. sin(z?)

3. cos(zz:7)
1—cos(2x)

4. Vsinz

5. (sin 2z + cos %)t
6. cos(sin(cosz))

7(:p)3

x2—1

Problem 2: Implicit Differentiatgon
Determine the derivatives fl—z and jx—g of the functions y = y(z) defined by the following
equations.

1. 224+ 2 =2atz=1,y=1
2. Y’ +ay—2r=0atzx=1y=2
3. x%sin(y) +y = cosx

4. 3+ 2% -3y =0
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